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1 2 3 4 5 6 7 8 9 10
@ @ @
11 12 13 14 15 16 17 18 19 20
® ® @
¥ 2E X 2R 90I2 JHE It A8 DEA. [1-3]
= 1

School teachers have to be flexible to cope with different ability
levels of the students.

@ strong (@ adaptable

® honest @ passionate

1. @

s HdMEHE2 sSELF0 U2 sSdssS AUE = UAE=
8840| A0k &L,

@ passionate & &0l
5] flexible 254 s
cope with ~2 &ftHolCh, OHX3HCH

2.

HO

| Crop vyields vary, improving in some areas and falling in others. |

@ change @ decline

® expand @ include

2. @D

Nl =2 $sz2 22, 22X1d90Mdes HeEn o2 ™
ME DO &CH

® change getXIC

@ expand ECHEICH
S| vary &¢etXICH (=change)
EE= crop yield &2 £2g

@ decline 22 3tCtH
@ include E&otCH

3.

MO

| | don’t feel inferior to anyone with respect to my education. |

@ in spite of
@ in terms of

@ in danger of
@ in favor of

w

L@
=

LSl st20l 26t He =20As 2s2= =X

Ct.

ol

FlF |'|F

L
o
@ in danger of ~& {&0| U=
@ in spite of ~0I& =+35t1)
® in favor of ~0i &AM, ~= <50
@ in terms of ~0 23t0, ~H0ll A
with respect to ~0l 23t (= in terms of)
feel inferior 2822 “=IICH

4. €=

MO

al

ol

Hz 2=z Iy HE

]

AE LEANL.

HT
fuin

=
e

| Sometimes we

money long before the next payday.

@ turn into @ start over
@ put up with @ run out of
4. @

W2 Rel= 222 8N 0|8 =2 CF MHEICH

@ turn into ~2 HHHCH
@ start over CHAl Al Z&HGHCH
® put up with ~2 &0

@ run out of ~2 Ct MWH2ZICH Ct Y XIC

224 0|dH =2 ‘CF MHICHrun out of)'2hle E&0| SWHA

s THAAELH

¢ Oga 22X ¥2 AE D2A2. [5-6]
5

. @ He asked me why | kept coming back day after day.
(@ Toys children wanted all year long has recently discarded.
® She is someone who is always ready to lend a helping
hand.
@ Insects are often attracted by scents that aren’t obvious
to us.

5 @
=] O = LIOIH LD Qf OHY 20l HS SOt=EXE 2ALH

@ OIS0l & & LY Y HH2S0l 22 HAFC.

® U= &4 S2=E FEHIO D A= AFZO0IC.

@ 2Es2 B8 R2dls SR E2 &0 olZeltt

@ 20 20l M, ‘A2 A

NESHN Kelol FAEQ ‘SI2A
H(D)+SAt(kept)' 2l =01 HESHLD, 22 A why

$|01I &S (| kept ~ day)0| M SHIE 2HO0|CH

0) (Toys)+==4]0{(children ~ |ong)+ AP REOZ, FO
(Toys)]k =20122 =AM ==8(has — have)0l <2t0f
StCh. 1ell discarde ‘~2 Heltt'et= 2012 EtsSAIZ
MOIH, =Y SAIt =s=2H0EZ =ZEHIt 240F SHCH
has recently discarded — have recently been discarded

3 someone2 HEMAIZ ot FAZBAUT A who S0 =010t
&l =2&st H0l AN ZHESHH HA:HADIL SH0122
S A2l S=E(is always ready)0l 2tAd =2HIE 2&O0ILC

@ scentsE H#AIZ Sl FAZAHUWGAL that SOl =00t
& S2MsH 0l AN HESHH HEHADE S2012=2
SALS] =S8 (aren’t)0l 2AA SHIE 2FO0IC}.

day after day OHZL=20| all year long & & WW discard

tHelCh lend a helping hand &2t3=Ct

2 6. M You can write on both sides of the paper.

@ My home offers me a feeling of security, warm, and love.

3 The number of car accidents is on the rise.

@ Had | realized what you were intending to do, | would
have stopped you.

® ga2 Z0l9 UB0 B2 2 £ UCH
@ Lol I Lol ot s D2ln Aol L2g =0
® TSI ADO A0 Bkt ACH
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@ Wt 240l Gted) M2Adte HS LU, e IS 8. @
orrs Hid. @ ‘no sooner ~ than ~'R20AM ‘~5tX0A ~3UCHete 20|
EE] O StAEAL both G0 FAIY =80l sides)t Z&E SHIE g M2 M= ‘F=0+had no sooner p.p.+than+3=0{+1tA
Z&0ILC}. SAPS EElE MOIM, no soonerdt 2& &o=z LiOHHH
@ HXIAF of2l SN Xtelol YAtSl YXI(security, warmth, and ‘FOH/SAPIE EXEEZ No sooner | have finishing2 No
love)E 2= 2N Z, §2AF warm2 YA warmthZ B30 0f sooner had | finished2 Ht30{O0F StCt.
&tCt. warm — warmth @ ‘will have to do'= ‘~ollOFRF & 2d0ICHe2t= 20l MOIE=Z
@ ‘A of B2 HEIII =LY M =22 A(The number)It SAHEE 2 will have to paylt HAESH SHIE Y& 0ICH
SAS =5 ZHoEZ2 A ==& isJt H&EotCt 02 ® ‘Ais to B what C is to D'= ‘A% B2l ZtHe= C Do 2
g2l ‘a number of B(SZ A2l ZR0= Bt SA2l =5 ot ZChet= Q0IE IHXle 2EES0I2Z SHE G & 0|0
Z8olH sAtS =80 20, @ ‘end up ~ing'2 ‘&= ~otAH ECHF2t=e 20IE JtX2E=z
@ D88 MAdzm F2E2(if+F0+had p.p., F=0+would+have ended up working0l ®&ES SHE Z&O0|CH
p.p)UA HEZAL IfE MASHH ‘FOH/SAHI EXNEH2=2 [WER sooner or later ZBt2t accounting firm 3 H Al
Had | realized ~Jt &8t =HE Z&O0IL}.
be on the rise SJtot2 UL
F 9. & MEY Uzt = It st A2?
M A: | like this newspaper because it's not opinionated.
¥ LS oz B2 82 A2 DAL [7-8] B: That's why it has the largest circulation.
7.0 Ues & & FE & YHIE £ Sl @ A: Do you have a good reason for being all dressed up?
— | can afford to waste even one cent. B: Yeah, | have an important job interview today.
@ 429 S20M OI4a0F 2 Aret R/ L. @ A: | can hit the ball straight during the practice but not
— The smile soon faded from her face. during the game.
@ 4= Atdete 24 20l= CHerol SIRACH B: That happens to me all the time, too.
— She had no alternative but to resign. @ A: Is there any particular subject you want to paint on
@ U= 5@ =0l L AtE2 AIEE ZFO0IC. canvas?
— I'm aiming to start my own business in five years. B: | didn't do good in history when | was in high school.
7. @ 9. @
® 200l ‘¢ g FO E& YHIE = QILF0IEZ can afford ® A: HeE 0l 201 XDl oHdS DEGHA 2D Med otsol
to wasteJt OtLI2t can’t afford to waste2 BIRO{OF StCt. =Lt
can — can't B: O O &&0| €EI JtE 2 0I=0F
@ fadex= ‘AtetXICHel= 2012 KSAES M0l =S Dt @ A UJF 22 O 2 XHY2 28 0l=IF AL?
SCH =2 SAI SSZHOEZ SA2 s=E fadeddt B: 2, 2= =R FHY HIO0l UAA.
ESESKo I @ A Y A5 Slle 32 SHZ2 2 = UKL HY Soes
@ ‘have no alternative but toR2 A= ~& == 0l SiCH ot &j.
~20l= Oferol gitt'et= 2dlg M0l2& had no B: L= 5 A= L0I0F
alternative but to resign0l &gt SHtE Z&O0|LCH @ A: HHAN dell A2 o™ Sdgst =X ALR?
@ aim2 toRAAME =HOHZ Foll ~& HF0ICHete 2012 B: &t NS&sW Il AAE Eotkl RIAA.
KLIEZ I'm aiming to startdt ®AEGHH, ‘in+tJ[2F2 ~= 0’ @ HHAN D2l A2 SEs FHI Us NE 2= AY 2=
ct= 2J0IE XILIEZ in five years® H&ESH SHIE I AO0ICH Of DSstu I SAE ZotAl RUC= B2 HE2 o MotC.
can afford to do ~& £ QUCH ~& LIt UL opinionated XtJ| 2/AS DEGH=  circulation ZEMEL be
dressed up 2 & XHACH all the time =, &4 subject
=M, CHet
£ 8. ) AAIZE OFXIKIOFAF L= CHAl BHDZ D] A ST
— No sooner | have finishing the meal than | started
feeling hungry again.
@ O4de 222t @32 LHOoFEH & 240ICH.
— She will have to pay the bill sooner or later.
B SA} B4 2AH= 2D A 2tH 2t 2L,
— Reading is to the mind what exercise is to the body.
@ D= UHEWM 2ste SR 2= A SAIM LA
T UL
— He studied medicine at university but ended up
working for an accounting firm.
-3 - de =3 M A Z
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= 10. 2= & =20 =0z 22 )ty HEs H27 1. ®
i GRSl AZLZOHISOHNH, SEEES =J[SHAL By & COE dts
A: Hey! How did your geography test go? : 34|7} mcH> OMOJELN :Cf = Oi;l ‘tue i A0 }
) a . AL = S5 =T T A=z =
B: Not bad, thanks. I'm just glad that it's over!l How about == = =
. . (B) StXIgt gty IS0l 2 = Use 2 =8 "gg” »
you? How did your science exam go?
: UCHH HEAH S Nt?
A: Oh, it went really well. . | owe ~
(A) AR Aira2l 0l8H0l A= M2A010l, Aras =& Ho| AISX
you a treat for that. - ~ N
- . . S0l ADIEZO0ILE Airall MEE S AMEGHH S2 =% &&
B: It's my pleasure. So, do you feel like preparing for the math ~ o
o 20IE HILUKE =& WOoIMENHN AEE HMalg = U

exam scheduled for next week?

A: Sure. Let’'s study together. o= M= ABISOIL _ _
_ (C) DA 24AI2F AZREZ 0I8E £ YEe Ara HOINEE
B: It sounds good. See you later. ~ - o )
AZ0 gotHu, 2ds ZEAeHHU = AXNFEHES Sol
(O There’s no sense in beating yourself up over this ANEIES oHYE £ QIC}.
@ | never thought | would see you here 0l 22 Al Z0HES &2 = A= M2 MHIAQH Airalll CHet
@ Actually, we were very disappointed d¥oz, FHEA Z0AM AIZEMSSHE L4 S0
@ | can’t thank you enough for helping me with it SME opsttin «at, thsez (B)WlAM BRI 2HBut) Al
ZOeISel O&S(they)0l =2 = U= 2N =2 22 =
10. @ UCHH M J X0 CHSt M2 HMAIGHD, OI0HAM (A)OIA
KBS A: 01011 XI2Ist AE OfEOo? Zi(That)2 Airacte MEZ2 AMBlA2 olHH Js M20let
B LIZX RO, A0 & XM 1201 2UA 1! UBHA, Aras FASZQ 21012 HICIRE F2F WO0XNE
He HO? A& AIE2 A7 HAH A2EY Helg = Ues MblAetd sttt a2l ot
Al 2, 32 & Zo. Ut O ol 248 SN 32 00 ©Z (C)UIM 4P (then) Aira OIOIMNE= AIZEOQICN AHEXE
Lot =8 =0l WOl 8 & LHOF &h SS OtUidlE SS9 28 & £ UL LSCh WetAd 22 &=A
B: MEHHl. O™ OIS =0l GIEE =& A= ZFdlotl aLl? 2 IOty HMEs 242 (B)-(A)—-(C)OILH.
A 220X, &0l SFotAL. sort through ~2 2256tCH do laundry %2H3ICH a load of
B: 0. LI=0f &}, st A(HONS  present €23I|CH OFJISICH challenge =&,
@ OI40l CHoll Xr&ot= 2 o=@ 2/010F Lol 2H  stream AEZ XelSICHOIOIE &S HAXNO2 0/01A
@ OIIM g otd =22 M2E 2. otCH)  surroundings &2 && on-demand FE&2(0IE Xt
@ Atdl 22l i AZA. TN et HERIAE S Zest F2E H3dte 94)
@ UWoF 2 otls HE TAFHM 2 N0, agent L& Xt, OO E  proprietary glasses &0t  available
OS] ©12b Ch22l ‘oIl 8 & LHOFACHowe you a treat)'cte= AQ 0|28 £ Qs 24/7 =822 |ocation AX=H

otk ‘®MOHO(It's my pleasure)’el= Bl s Eofl BlEHoles
Y DNetetl Lole @It HEEES & = UL
owe AIAIS XD QUCH FHOF BHCHD A2AEICH treat Bt & beat | 2 12, =& 2X0| SO QX2 A HES RS9
oneself up XESICH | can’t thank you enough &% 10 ° ° °
The comparison of the heart to a pump, however, is a genuine
analogy.
Z 1. =& 2 O30 010E =22 &M&M2 JtE HFst Ha? An analogy is a figure of speech in which two things are

asserted to be alike in many respects that are quite

For people who are blind, everyday tasks such as sorting ) ) ] )
) ) fundamental. Their structure, the relationships of their parts, or
through the mail or doing a load of laundry present a ] o
challenge. the essential purposes they serve are similar, although the two
things are also greatly dissimilar. Roses and carnations are not
(A) That’s the thinking behind Aira, a new service that enables analogous. ( @ ) They both have stems and leaves and may
its thousands of wusers to stream live video of their both be red in color. ( @ ) But they exhibit these qualities in
surroundings to an on-demand agent, using either the same way; they are of the same genus. ( ® ) These are
a smartphone or Aira’s proprietary glasses. disparate things, but they share important qualities: mechanical
(B) But what if they could “borrow” the eyes of someone who apparatus, possession of valves, ability to increase and
could see? decrease pressures, and capacity to move fluids. ( @ ) And
(C) The Aira agents, who are available 24/7, can then answer the heart and the pump exhibit these qualities in different ways
questions, describe objects or guide users through and in different contexts.
a location.
@ (A)-(B)-(C) @ (A)-(C)-(B)
® (B)-(A)-(C) @ (C)-(A)—(B)
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N=sez Jtd HEs H=2?

One of the areas where efficiency can be optimized is the work
force, through increasing individual productivity — defined as
the amount of work (products produced, customers served) an
employee handles in a given time. In addition to making sure
you have invested in the right equipment, environment, and
training to ensure optimal performance, you can increase
productivity by encouraging staffers to put an end to a
modern—-day energy drain: multitasking. Studies show it takes 25
to 40 percent to get a job done when you're
simultaneously trying to work on other projects. To be more
productive, says Andrew Deutscher, vice president of business

development at consulting firm The Energy Project, “do one

longer

thing, uninterrupted, for a sustained period of time.”

(@ How to Create More Options in Life

@ How to Enhance Daily Physical Performance
(® Multitasking is the Answer for Better Efficiency
@ Do One Thing at a Time for Greater Efficiency

13. @

SEH0 zFIHE = U= S0k = St M9 MatH
stals St =S5H2=2, S dard2 8 MAA0 FO0E Al
Ol Melote o 2 (MaE MS, Mbla g2 nH)ez Ho
s zHS dUE 2Hot)| floll, SHIE FHl, &3 & w0l
Eltote A= 4ol o= A 0=, a2 REA=S0l U2
X | O JNYs OUFEE HHFZM dMitdsS

|
o
|

SItAIZ = UL A= a0l sAH OE Z2HESH =
£ S0/d) & M, & HHS ZU= d 2508 40HHE O
Qe AI2H0] ZElle HE BECH O MAF01J] |l “KIS
MOl J|2F S0 SCULX 22 [, st IHKl LS btet’n HEE
3IAFCl The Energy Projectl At2IHE SALECL  Andrew
Deutscher= ZstCt.
O QMM O E2 HdHIIE e Y
@ LaFol AXl Jsg8 SaAdle &Y
® O=s &0l O U2 as42 s dlgoltt
@ O 2 &84 <ol s Bl & JtXl 22 dtet.

OS] z&2 S=4d2 <fdiMse IS0 OsHgE2 01,
st Yol 8t JtXl &2 Slet= HO0IE=Z 0 29 Ms2=2 ItE
MFE A2 @olth

optimize E = 35I6ICH work force =52  in addition to ~2/0ll

T, ~&0t otulet ensure S &G6HCH performance &1,
Jls put an end to ~2 ZWCH %S H 3tCH energy drain
Xl S= multitasking CI=ZY simultaneously < Al 0l

(=)

work on ~0l g2 =O0ICH uninterrupted SHE A £2

sustained XI=&  enhance &&HAIZICH at a time 8 H0l

?

= 14. 29

|oh

Sa It oag 2&

ro

The skill to have a good argument is critical in life. But it's one
that few parents teach to their children. @ We want to give

kids a stable home, so we stop siblings from quarreling and we

have our own arguments behind closed doors. @ Yet if kids

never get exposed to disagreement, we may eventually limit

their creativity. ® Children are most creative when they are free

to brainstorm with lots of praise and encouragement in a

peaceful environment. @ It turns out that highly creative people
They are not

often grow up in families full of tension.
surrounded by fistfights or personal
disagreements. When adults in their early 30s were asked to

insults, but real

write imaginative stories, the most creative ones came from
those whose parents had the most conflict a quarter—century

earlier.

14. ®
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OOIE2l Hoge AAFQ oA =X & =8 === X232t LXISHC.
MO US O 2ZHEC= WEO0ICH 2 £2It OtOISHIA @ S YW SFA AX0 SAsS AIJl= A =S
=8 Ji=g2 N JIEXX sle & 22 HEYN AZEH= A2 FERUCLD o8 =Z X2t LXISHC.
Fez, R2e= OIS =8s YD LOUSS HIBM=2 6t @ OA BJ SFHUA Do HH2 FA0IACD #esz X
UCHD HHGIH, @0M= GHXIZHYet) A2 SLX &L =Xl o 2XIokX &=Lk
CEOX AW 0t0I=9 FHHE0| HMstE = UCtD LokL, @ OtXIgt 2&0A 2JF or 10UHA=2 W Dam-Burst of
@M= R FHIXQ AIHE2 2E2=Z IS F IIFA Dreamscte MS USHRUCID #HODZ X2t LXISHT.
H&Es Aoz CHGOID Agstth d8d @2 0lolE2 Hat of some renown - & RISt have little control over ~2
22 SHHUAN 2 &Y AHH 8N BYeAEdsS & O Hel SHStAl =otCh to the extent of ~2 HENX  swallow
s FHoHOI2lE UEez 2 dM S8 22X €= AI|CH strap 222 KO sit up SHIZ CH  utter (A2lS)
0285t 2HOICH LHCH recognizable QIAlE =+ U=, 202 = U= speech
CER argument =2 critical &5l SR8 sibling EMX0H  behind sound 203 such that ~& &EZNtX attach £0ICt
closed doors HIZSIH=Z, HIZ2I0l disagreement 2/AL =X, letter—by—letter StAF 8t XA

OlA =& brainstorm BYIAEAS SICH it turns out that ~
ol 2oz Uit HEXCH fistfight = M-S  personal insult
QIAIZA  quarter—century 1/4M121, 25
¥ 08 29 U=l dXiohK 2= s DN2A2. [15 ~ 16]
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Christopher Nolan is an Irish writer of some renown in the
English language. Brain damaged since birth, Nolan has had

little control over the muscles of his body, even to the extent
of having difficulty in swallowing food. He must be strapped to
his wheelchair because he cannot sit up by himself. Nolan
cannot utter recognizable speech sounds.
that intelligence was
undamaged and his hearing was normal; as a result, he learned

to understand speech as a young child. It was only many years

Fortunately, though,

his brain damage was such Nolan’s

later, though, after he had reached 10 years, and after he had
learned to read, that he was given a means to express his first
words. He did this by using a stick which was attached to his
head to point to this
letter—by-letter, that he produced an entire book of poems and

letters. It was in ‘unicorn’” manner,

short stories, Dam—Burst of Dreams, while still a teenager.

(@ Christopher Nolan2 % =42 2t B %CH

@ Christopher Nolan2 842 &Jl= A& AR LCH

(@ Christopher Nolan2 &2t H0iZ 2ol S = ARULL

@ Christopher Nolan2 10CHY ©f &S ACH
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Christopher Nolan2 S0z - S |SYs oY= FIt
OICt, EHHY M2RH = 42 &2, Nolan2 Xta&lQ AlH <
2|2 A9 SHoHA RIU2H, XN SaS &II1JI= A0l
28 HS FCAL. D= EX SHiE 22 = I H20
X0 S0 AN O0F StCE Nolan2 AE £ s AHSS €
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Dreamsct= # &t MIUE UEN W A2, SX AN Gl=
Oldst "|LIE" YA0IACH

— 6 —

o
[

16.

In many Catholic countries, children are often named after
saints; in fact, some priests will not allow parents to name their
children after soap opera stars or football players. Protestant
countries tend to be more free about this; however, in Norway,
certain names such as Adolf are banned completely. In
countries where infant mortality is very high, such as in Africa,
tribes only name their children when they reach five years old,
the age in which their chances of survival begin to increase.
Until that time, they are referred to by the number of years they
are. Many nations in the Far East give their children a unique
name which in some way describes the circumstances of the
child’s birth or the parents’ expectations and hopes for the
child. Some Australian aborigines can keep changing their name
throughout their life as the result of some important experience
which has in some way proved their

determination.

wisdom, creativity or

For example, if one day, one of them dances
extremely well, he or she may decide to re—name him/herself

‘supreme dancer’ or ‘light feet’.

(» Children are frequently named after saints in many Catholic
countries.

@ Some African children are not named until they turn five years
old.

(® Changing one’s name is totally unacceptable in the culture of
Australian aborigines.

@ Various cultures name their children in different ways.
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Duration shares an inverse relationship with frequency. If you
see a friend frequently, then the duration of the encounter will
be shorter. Conversely, if you don’'t see your friend very often,
the duration of your visit will typically increase significantly.

(A) , if you see a friend every day, the duration of your
visits can be low because you can keep up with what’s going
on as events unfold. If, however, you only see your friend
twice a year, the duration of your visits will be greater. Think
back to a time when you had dinner in a restaurant with a
friend you hadn’t seen for a long period of time. You probably
spent several hours catching up on each other’s lives. The
duration of the same dinner would be considerably shorter if
you saw the person on a regular basis. (B) , in romantic
relationships the frequency and duration are very high because
couples, especially newly minted ones, want to spend as much
time with each other as possible. The intensity of the
relationship will also be very high.
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One of the most frequently used propaganda technigues is to
convince the public that the propagandist’s views reflect those
of the common person and that he or she is working in their
best interests. A politician speaking to a blue-collar audience
may roll up his sleeves, undo his tie, and attempt to use the

specific idioms of the crowd. He may even use

one of the folks.” This technique usually also employs the use
that the

of glittering generalities to give the impression

politician’s views are the same as those of the crowd being
addressed. Labor leaders, businesspeople, ministers, educators,
and advertisers have used this technique to win our confidence

by appearing to be

language
incorrectly on purpose to give the impression that he is “just

@ beyond glittering generalities
@ just plain folks like ourselves
® something different from others

(A) (B) @ better educated than the crowd

@ For example Conversely

@ Nonetheless Furthermore 19. @

® Therefore As a result IHE A= AEEH=E A48 I8 =S otlis, UsSHAH d&8 XIS

@ In the same way Thus Ao HEHS AIg2 AdHE BrEotd, 1 L= Wt =

(a3)a zHol olel2 2ol Lot Ulks A8, ©SA2le A

18. @ OlCt. SERZeHSHMEsSX) HSUH H&6t= FXe2 Xalo

KEAIZEE BIE 2 Byl &2HE 3=/ StCH 2ter galo] 2R E A0E 2020111, Xl dEOIE 21, 252 SH&E &2
A= QHHCHEHE, O 1O ol XSAIZ2 o #OotE AoIth HPE MEBotdd & = QUC = XAl “O™ 1O MBS
BHOHE €4l0] RRE ACK A3 LA =03, Zalol otd Z o gaEolete da2 FI| fAd AXNH LR AAHE
o XNH AlZt2 Lutdoz AYsl St 200ICH (A) OIZ, SHEGH AI2E =% UCH 0 Jlge £& FXIotel A6t
Bror SHAI0l OHY RFE O, a9 oHgol XIHAIZEE HEZ2 21 Y= 2F9 Aol Z2C= a2 I <foh o
O &2 &+ A=, dUdtH a2 AFH0l &HE i & 20| stAst FMHE AMESC. =5 XNEXE, MEls, FE2&E,
2doUD JU=XE & 2= UIJ| MSO0ICH BHXIQH 2reF SHAIQ wWEAS, dell) Z2NFse et 22 HYS AMHSe A
ARE & HOl S B0F DHUCHH ) ShAlo] Ot ol X& AZ2E2 HEg Bdo=z i 212 AMIE LI fd 0 JIHES ArSoHRCt
O 2HZ& Zd0ICt. galol @3 Jj2t S LUK RIME 22 stedst =AU E E0Me @ et 22 WYsH AMES
AMYUA MY AAIE 8 HE =012 M=ol 22t a2 oot @ CHE AIESI T8 20t @ ZEE0 O &2 uss g2
NMZ9o a2 20tH= O Z AlZts 2SS 210I0H 2 Al H OHM 2F0 FHEeZ, IIE XUF AEdese dEIE B
FINZez 1 MBS HHOH, S22 MY AAY XIHAZE2 Stlt=, MAEXel AcHIE HYESH AESl Adiet 210 A&t
AYSl O ®#S 240ICH (B) BtOiZ, Aol 2H0AM BIEt XX Fo| zdol 0l92 ol Lot USS, ESAIle AHoletn
AMZt2 i =20, AdLStH HES, S5l M2 UASHE HE Mzdtn QUCH 09 AWM= XD LBt 2= 22
S2 Mz Jtsst 8 @2 AlZE 2Bl A0 oI mEolt AHE JIXLD Ul= ola2 FI| <o A= Hi=st 2k
A A& EF R =2 210IC HRE AIEdte WHAME S0 2¢ 45t UCH  TetA
® ol - Btz @ D80Hls 7ot — HCHt LS ANEXE, MYIIE S0I'22 22 Yst mgs'el A
® 422 -1 20 @ Ot&IbRI2 - WmetA HE 2oz M 229 KMIE god Sth= UWEol 20t

(A) L0AME K= CHLEEE BHEol XIS AIZ2E0l EOFXI DD, JCHK AHAAHREZ BIZHl= @JF Jt& AT
Atz QHLEA o™ ohd ol XIS AIZt2 SOHettt ) Z6tl, (A) S propaganda &&  convince ESAIIICH EAAIZICH  reflect
M= OHEY Bl 32 & Jil & B Stie 322 WAIE BtYSICH  in one’'s best interests ~2 Z &2 0|2dE <o
=1 A2 2 (A)0l= For exampleOl & &SICH. blue-collar 22&etel, EML=SX2  roll up one’s sleeves
(B) 20AME 2rEl BIS R XISAI2H01 BHHlddiote HAS ZLot, 2018 20{20ICt undo ZCH  on purpose 2£2{, 1o
(B) FlUME 2tgel BIEe XIHKA2H0l € O =2 2HE &Y impression @& folks AMEES  employ ALE0tCH  glittering
St A28z (B)li= ABHE UHES ZE M M= AZAMR generality 3tedst F&0  address HASICH  minister &2,

ConverselyJl &= &5iCt,

duration XIZAI2E  inverse relationship 2, gl 2
frequency Bl%& encounter @te conversely BtCHEZ keep up
with ~2 €0+ unfold ®IHEICt catch up on ~2 ZOUCH
on a regular basis HJ|E22Z romantic relationships & ¢l
ZH newly minted M& 2HEWH&  intensity 2%

XX win @0 confidence &2, Al plain Y&t
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As a roller coaster climbs the first lift hill of its track, it is
building potential energy — the higher it gets above the earth,
the stronger the pull of gravity will be. When the coaster crests
the lift hill and begins its descent, its potential energy becomes
kinetic energy, or the energy of movement. A common
misperception is that a coaster loses energy along the track.
An important law of physics, however, called the law of
conservation of energy, is that energy can never be created nor
destroyed. It simply changes from one form to another.
Whenever a track rises back uphill, the cars” momentum —
their kinetic energy — will carry them upward, which builds
potential energy, and roller coasters repeatedly convert potential
energy to kinetic energy and back again. At the end of a ride,
coaster cars are slowed down by brake mechanisms that create

between two surfaces. This motion makes them hot,
meaning kinetic energy is changed to heat energy during
braking. Riders may mistakenly think coasters lose energy at the
end of the track, but the energy just changes to and from
different forms.

@ gravity @ friction
® vacuum @ acceleration
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